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1.

SECTION - A
i) General Awareness

5. Aranya, Kishkindha and Sundara are

Who is the Prime Minister of Nepal 7
(Al  Mr. Sushil Kumar Shindhe

(B) Mr. Sushil Koirala

(C)  Mr, Inder Kumar Koirala

(L)  Mr. Pashupathinath

Expand FDI.

1A} Food Development of India
(B) Food Department of India
(C}) Foreign Direct Investment
() Free Developing Investment

Who mesented his maiden Rallway
Budget on July 8, 2014 in the
Parliament 7

(A) Mr. D. V. Sadananda Gowda
(B) Mr. Arun Jaitley

(C) Mr. Marendra Modi

(D) M. Lal Krishna Advani

There is outbreak of . n
Wesl Africa, which can kill victims
within days causing fever, muscle
pain, vomiting, diarrhoea and
unstoppable bleeding and il could
spread lo other continents.

(A) Viola

(B) Ebaola

(C) Pamela

(0} MNone of these

divisions (Khandas) of which major
epic 7

{A} Mahabharat

(B} Ramayana

{C) Bhagavata

(D) Mone of these

Dipika Pallikal and Joshna
Chinnappa helped India win its
first-ever CWG 2014 Gold Medal in

(A)  Squash

(B) Badminton
(C) Tennis

(D)  MNone of these

A mobile phone charger is
(A)  An inverter

{B) A UPS

(C) A step-down transformer
() A step-up transtormer

The Fundamental Rights are
enshrined in which Part of the
Constitution of India 7

(A) Partl (B} Partll
(C) Parill (D} PartIV

The only inscribed stone portrait of
Emperor Ashoka has been found at

(A) Sanchi
(B) Amaravathi
(C) Kanaganahalli

(D)  Ajantha
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10, Which one of the following gases s 16. Who released his auto-biography
supporter of combustion ? “One Life Is Not Enough" on
(A} Hydrogen {B) Nitrogen Aug. 1, 2014 7
({C) Carbon dioxide (D) Oxygen {A) Mr. Manmohan Singh
11, Which of the following structures of a (B) Mr. Kedamath Singh
plant is responsible for transpiration 2 (C) Mr. K. Natwar Singh
(A) Xylem (B) Root (D) None of these
{C) Stomata (D) Bark
17, September 5 is observed as
12 .||5|.-I1'|.l:,'ll"lg the Fﬂ[mng animals, choose AY  Hindi Da
the one having three pairs of legs {B} Endi ; b
(A} Spider (B) Scorpion (6. Engincers Day
(C) Bug (D) Mite (&) World Tourism Day

a (D) Teachers Day
13. Which one of the following was a

temple built by the Chola Kings 7 18. Where did Babur die 7
(A} Brihadiswara Temple — Thanjavur (A) Agra
(B} Meeanakshi Temple — Madhurai (B} Delhi
(C) Srirangam Temple - (C) Kabul
Thiruchirapalli (O} Lakore

(D) Durga Temple — Aihole

14, Who defined democracy as a 19.  The first astronaut o set foot on moon
"Government of the people, by the Wias
people and for the peopla” 7 (A} Yurli Gagarin
(A) Mahatma Gandhi (B) Neil Armstrong
(B) Ruskin (C) Alen Shepherd
(C) Aristotia (D) Edwin Aldrin

(D) Abraham Lincaln

20). Mount Everest, the highest peak in the

15, i :
5. Who won Wimbledon 2014 Men's world is located in

Singles final in London on July 6, 2014 7

{A) Bob Bryan (A) India
{B) Novak Djokovic (B) China
(C) Roger Federer (C) Nepal
(D) None of these (D) Bhutan
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. Fedasfif s damast 7

(&) BRI
(B) EErm
(C) - A EE AT
(D) ifaEEE

Tt e S e st
F foru fndimm 2 7

(A) FIE-—F {B) T
(C) =R (D) ==

o= el 4 R A S S e I
o1 =G e |
(B) gfvas

(A)

(C) wremer (D) Feeh
= o & Eman ofEr =en wen e A Em
(A) wefer AiET - demE

(B) st i - mged

(C} = afey - foefarmeeit

(D) gni sfe - T
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e« v e dr e
(A) TEEmTE

(B) TEfEA

(C) affeared

(D) 3mmen o=

S 2014 % R v 8 fgmmEa 2014
& GHY1 T U BTSS! T Sl 7
(A) T wE

(B) AT ik

(C) Usr e

(D) TFHA=HE A
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1 anTed 2014 % feu faa sl
ATHFE T A IH Al TH
T w1 2

(A) o, wrire e
(B) . Fawena fam
(C) . & 72 e
(D) i | e

Tt 5 =1 o o mier e @
(A) T famm

B) sfefim faag

(C) TFovawdz femm

(D) T faam

a1 ) g el 7
(A) T
(B) Feeh

(C) =hrEe
(D) =R

e Y g e e Een sfty - o
(A) FHTE

(B) e s

(C) e Yied

(D) TEREA sEH

Brafaae e v o fom
(A) WrE
(B) =H
(C) =9
(D) M
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ii) General Intelligence and Reasoning Ability

Facing the Easl, R walks straight
4 km, turns left and walks 3 km and
again turns left and walks 4 km. How
far is B now from the starting point 7

(A) 2km (B) 3km
(C) 10 km O} 11 km

I PINK is written as KNIP, how can
"CANE" be written ?
(A} EANC
(B) ECAN
(C) ENAC
(D) CAEN
LY

Which of the following does not
belong to the group to which the other
three belong 7
(A) 27

(C) B

(B) 125
(D) 36

If ‘who is he' is represenledas '13 5,
‘He is running' is represented as'53 2'
and '‘Dog is running' is represented
as '4 3 2', which number represents
s 7

(A) 2 (B) 5

<) 4 (D) 3

Kerala : Thiruvananthapuram ; :
Kamataka ; 7

(A) Chennai
(B} Lucknow
{C) Bangalore
(D} Hyderabad

Directions (Us. 26 and 27) : Read the
following and answer these guestions
accordingly. P, Q, R, S, T, U, ¥ and W are
sitting in a circle facing its centre. S is second
right to P who is immediately leftto T. W is
between S and Q, but directly opposite to U,
Rand V are between Q and U. R is directly
opposite o 5.

26.

27,

28.

Whao is sitting betwean Q and R 7

(A) U |/ T

(c) v D) W
Who is second leftta P 7

(A) R By T

€ Q D) W

‘C iz shorter than A, but taller than B

who is taller than E. D s the tallest, Il
they stand in a row according to their
haight, who will be in the middie 7

(A) A
(B) C
{Cy B
(D) MNone of these

‘A’ is the wife of ‘B'. ‘C’ and ‘D" are
brother and sister. TV is the daughter
of ‘A'. How is ‘B' related to *C" 7

(A}  Mother

(B) Father

(C) Son

{D) Daughter
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i) FrreT g g men wrfhes givge

i (w26 3l 27) ; Py =t ol sl g
W I I ANA (P, Q, R, S, T, U, V #tw
AR, e % % A o afinge g s
21878 P st gan B, & T % g
T 706 2 | W S it Qs a & e de
UkamHg IREMVERiQaius e

o it whE g R WY 4 6 e
8, =fi o1 HEa 3 ol e # o
ans =i 37 gue 4 R e 2
sl frg A R o el i g e
(A) 2fF,
(B) afsaf
(C) 10%EH:.

oy 115

ufa PINK =t KNIP fered B 91 “CANE"
=i o e 7

(A) EANC

(B) ECANN

(C} ENAC

(D) CAEN

o i P e e 2 e R
TE B 7

(B 27
{C) 8

(B) 125
(O] 36

a2 ggs A W 1 3 5" 0E awim A
8 Hizmi w532 e @
3t i ww o = 4 3 2 Ul e
T &, A e yE W e R e

(A) 2 (B) 5
(C) 4 (B) 3
e - Towaag e 2
(A) == (B} ET3
(C) = (D) =

RIEHE SFamA R
25, QIMARFARTFRITE?
(A) U (B) T
(C) W o) W
27. PHuHE AR gmuEA 2
(A) R B) T
) Q (D) W
28. ComeARTmEREAER SR SE
3R D 1 2 AR g 3w
Fard &1 e =aw 3 me 7 § A,
drg o wi=Em 7
(&) A
B) C
[C) B
(D) &H H i T
29, AT B F e E 0 s D u

eI DImAFRANE BEC
H W AR 7

(A} =T
(B) fie
(C) =
(D) =@

T ALl
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30. {15265346571345595023586) 37. R=aUPsS5 A DNS?
In the above set of digits how many (A Q (B) P
5's are there which succeed an aven

number and preceda an odd number 7 (& C ©-6
[A) 3 B) 2 38. Tendulkar hits a ball towards MNorth
(Cy 1 D) 4 ina one day intermational cricket

match between India and Pakistan. -
Pakistani Fielder Shahid Afridi runs
siraight towards West to field the ball.
Which direction does Shahid Afridi

Directions {Qs. 31 10 33) . In these questions
identity one alternative which does not
belong to the group of other three.

31, (A) Gopala (B) Radha comas from 1o field the ball 7
(C) Madhava (D) Krishna (A} MNorth
a2, (A) 24 (B) 15 ) SN
€ (D) 38 (@ Eest
(D) None of these
33. (A} Bus
e
ar of his father-in-law is m
:{D:}:I aﬁ;r Car fathar-in-law”, How is John raiatam:
the lady ?
34. Complete the series by replacing 7" (A) Son
BADIO — TCFKQ :: AUDIO: 7 (B) Husband
{A) FKQAU {C} Son-in-law
(BY CWFKQ (D) Father
(C) BVFKQ : .
(D) CUFKQ 440, F_rnd the appropriate gmgp from the
given alternatives which is similar to
35, A — 18, RAT —» 39, FAN — 7 the given three sets,
(a) 21 (B) 42 (32, 24, B), (50, 45, 5), (41, 32, 9)
{C) 3 (D) 38 (A) (20,12, 15)
36. 3,7,15,31,63,7 (B} (80,54, 6)
(A) 77 (B) 87 (Cy (10,7,8)
(Cy 117 (D) 127 (D) (43,41,42)

Ax
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30, {1526534657134559502356)
0 ot e e F oo A v R s §
o1 HY we % are @ sfy B den &
TEet B |
(A) 3 (B) 2
(Cy 1 (D) 4
Fiwr (. 314 33) . 3w i vs B
eI a1 A it e we i
31. (A T (B) T
(C) =mee (D) =
a2 () 24 B) 15
) 12 (D) 36
33. (A) W (B) A
(C) e (D) wEER
34, "7 FI TEe g O i
RADIC — TCFKQ : : AUDIO : 7
(4) FKQAU (B} CWFKQ
(C) BVFKQ (D) CUFKQ
35. R -3 18, RAT —» 39, FAN —s 7
(A) 21 (B} 42
(C) 3 (D) 38
36. 3,7,15,31, 63,7
Ay 77 (B) 87
©) 117 (D) 127
A

<11

37,

a8,

a9,

40.
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RUPS5A DN ?7?
{A) a
& P
{C) C
0y G

T 3T M ¥ e v fEm

S d9 d dge g oI

F1 R O 8 | Wi 1 aEe

I AR d offgg 6 2 e

I T &1 Sl | 7R e & i
e e HwiE st fam A

AR 7 b
(A) 3 b
(B) afEm

€ @

(D) o7 & %78 T

st i i 2 g v Al ) 2
g W S el R o i
e & w9 A e 7

(A)

(B) i

(C) =ERE

(D) T

3 i i 32 % we dve e, B
) feremeat 6 0 e ol |

(32, 24, 8), (50, 45, 5), (41, 32, )
(A} (20,12, 15)

(B} (80,54, &)

(C) (10,7,86)

(D) (43, 41, 42)

B A T
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43.

a4,

Ax

iii} Arithmetical and Numerical Ability
48,

Amith sold an article for ¥ 60 and got
a profit of T 10. In order to get a profit
of 22%, what should be the selling

price of this article 7
(A) T72 B)
(C) T61 D)y 75

Write the Roman Number MDCL in
Hindu-Arabic number.

(A) 1560
(B) 1750
(C) 1850
(D) 1600

L
It3%™ =81, find m.

(A) 2
{B) 4
(C) 1
(D) 3

If log BO = 1.9031, find the value of
log 8000

(A) 0.9031
(B) 3.9031
(C) 2.8031
(D) MNone of these

2
2

81% =7
(A} 3
(B) 27
{C) 9
(D) 12

‘:?I

50.
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It 3 =1.732find the value of f12.
(A) 3.464

(B) 5.196

(C) 0.8860

(D) None of these

(A) = (B)

EE"* ~i| 3

() (0

Face value of a share is ¥ 100. Find
the dividend obtained by investing
¥ 38,000 in this stock of 75 at 85,

(A) T3,000 (B) 71,800
(C) ¥2,000 (D) ¥ 2,800

PORS is a rhombus, PR = 12 cm its
areais 98 sq.cm. PO =7

{A) Becm
(B) 10cm

(C) 12em

(D) cannot be determinad
Quadrilateral PQRS s inscribed in a
circle with centre ‘0", |t | POR = 180",
find | F’QH.{I PSR {5 an acute angle)
(A) 80" (B} s0°

(C) 100° (D) 120°
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i) STETIOTH TS W FIETE T

Fitha = aE T60 AAEM AN T 10
o HFTE T @ | 47 8 225 FE
¥ 7 e e - e v nfee 7
() T72 (B) %62
(C) T&1 (D) %75

1 FE MDCL = Temy - arlt s 1
ferfiam i

(A) 1560

(B) 1750

(C) 1650

(D) 1600
4

ufe 32m = g1 B, meh e qaT it |

(A) 2
(B) 4
(L
D) 3

7% log 80 = 1.9031 R 71, log 8000 =T
T ] e |

(A) 0.9031

(B) 3.9031

(C) 2.9031

(D) ¥ B IS AR

Bl i

At ="
(A) 3
(B) 27
<) 9
D) 12

-13-

48.

47.

49,

50.

af2 J3 = 1.732 8. W 12 T g4 T
#ifEm |

{A) 3.464
(B} 5.196
(C) 0.8860
(D) T A ST
| .2
8523
S
P
2 b
17 B
A 3 ®)
a4 7
S = ©

T S o 3ffeka SFA € 1007 | 0=
q 7%, 95 T 38,000 FEm = 9
ST B

(A} T 3,000 (8) ¥1,800
(C) 2,000 (D} 22,800
PQRS 48 T HA= 4 & 8l

PR =128 i, 2 3l 3950 % 95
giad i PQ="7

(A) 8. d

(B) 104, .

(C) 124, 7.

() Fraife 7 e = s

g 'O = T Fge | e PORS
sfra frmmar 1 ofe | POR=180"§
a1, | POR =7 wan wmgn ) (| PSA 2%

A B)
(A) &0 (8) a0
(C) 100° (D) 120"

-

-




52.

a3

54.

93.

The angles of a triangle are in
arithmetic progression. The smallest

angle is 50°. Find the greatest angle.
(A) 7O (B) &0

(C) 8o {D) 1o00°
Geetha travels from A to B at a speed
of 40 KmvH and returns from B 1o A at
a speed of 30 KmvH. Find her average
speed of total journey.

(A) 3I5KmH

(B) 34 Km/H

(C) 36KmH

(D) mg Ke/H

Find the least number that must be
subtracted from 2422 to make it a
perfec! squars.

(A) 32
(B) 21
(C) 30
(D) 26

112 = (121 +{11 x 11) = (- 4) =
(3-B-1)}="7

(A) 100 (B) 101
(C) 102 (D) 103

The ratio of the surface areas of two
spheras is 8 ; 16, Find the ratio of their
valumes,

(A) 27:84

(B) 6:8

(C) 18:48

(D) None of thase

b6.

57,

59.

60.
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Find the least number which whan
increased by 3 s exactly divisible by
27,35 and 21.

(A) 850 B) 972
(C) 842 (D) sag

Write .5, 250, %140 In the
ascending value of their value.

(M) /5.310. 140
() 0. 45, Y140
(C) 310.%h40.5
) V5, %140, V1o

HA:C=5:BandB:C=5:6A:B:C=7
(A) 5:6:8

(B) 5:8:8

(C) 15:20:24

(D) 20:15:24

[—4 a+5| [b+4 2
Ma 2= 8 o-q)the

values of a, b and ¢ are
respectivaly.
{A) -B8,-3,3

B) 5,7.3

(C) 5.3,-3
(D) 7.5,9

The difference between compound
interest and simple interest for? 5,000
for 2 years at 20% Is

{A) T250
(B) T200
€y ¥150

{0y 100




51.

23.

54,

vk e 3 oy w2 H § | e
F01 50° F | stfiEay w0 ga g |
(A 700 (8 60
(C) B8O (D) 100"

e A ® B =e T 40 B fge i
et B st am e A sofEd. faa
i @ sl ® | e W Y afEa Tl
TAT I |

(A) asfRHL g

(B) 34 fa=

(c) 3sfRA, gz

0) 4= A i

2422 B U =GR HEN T2 H g
qfrqu] = wEm w8 |

(A) 32

(B) 21

(©) 30

(D) 26

112 - {121 +(11 x 11) = (- 4) -
(3-g-1}="7
(A) 100
(C) 102

(B) 101
(D) 103

B 7] o T8 Sl 5 I 90 167 |
I TGS 1 ST AT it |

(A) 27 .64
(B) 8:8
(C) 18:48

(D) % E e e

16

56.

57.

a8.
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T} =g e waTsy e 3 1 Har
A 4 58 §&m 27, 35 AW 21 A dF
e gy =7 &
(A) B850
(C) 942

(B) 972
(D) 892

J5, 16, Y740 T T g F
HATE 8 5 Te |

(A) J5.30, Y140
(B) 10.5, $140
(€) 3f0.%140. 5
D) 5. %40, 310

aft A:C=5:83RB;C =56 ¥

A:B:C=7?
(A} 6:6:8
(B) 5:8:6
(C) 15:20:24
(D) 20:15:24

-4 a+5 b+4 2
’Iﬁ[s Edl{s c-:}ﬁ'
a, b 37T ¢ o1 AL 5 B
(A} -8,-3,3 (B) 57,3
(¢} 58,-3 0y 7.5.3
7 5,000 Tt 9t 2 391 % fore 209 =
= # W le =E SN EE = Hl
U
(A) T 250 (B) %200
(C) %150 (D) T 100

L

T sl | LR
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: iv) Test of Language : Hindi ' A

wrey oiter ;R
‘ 6l. MIFOFATANR____ | o7 zrmifed Fed § |
I FEd & | &) oE T E
(A) ey (B) TeH
(B) s (C) =
(C) @™ (D) #E A= E
). BB, ‘T w1 I o ey
62. Fradremafrnmat e (A) el
ward (B) e
(A) FHE (B) 3w (C) e
(C) ¥hm (D) famian (D) e
; ' : i 2 T resi 1 IEETes B e Rl
= RS o seaT)
(A) e (B) iy
(C} areng® (D) amnfymm | B9 SOAT
(A) T
B4, HE TR wifid| (B) =MmH
EHE EE Ao | (C) =m
A T (B) @™ (D) =T
it 88 9): 70. =W
B5. ¥ = T+ Faferd | (A) 3= By F=A
(A) ¥R (B) =fw (C) ==m (D) &
(C) Tt (D) i 71, FAF
66. TFaw e we f:: i
(A)  HrEgE (B) A :E} mi "
(C) HH%H& (D)
| (D) g
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A ol it wral =1 fetin weg fofen | st =% S R ammEm S wifd ® )
a18 3T off 29T A 5 T AE B | vty
72, #HFS wfrem 3 wref W wrem T d v e
(A) W (B) sfgm | FHHE
(C) we (D) = 76, 7sire 0% T |
73. (4).
(A) S (B) (B) g
(C) Fafa (D) Frmim = ﬁaa P
(D) =& |
. i
G 77 & = 3 g gen| L
(A) SEDTTN (A} i 2
(8) =N (B) e
(©) frmm () wferie
(b} W@ (D)
75, 78. = et wea
() S (B) i (A) I (B) e
(C) el (D) Tl (C) =W ) forem
TR forel met ol v ol R R I |y e wreet % T v i
difer (w4, 769 78) (W, 6. 79 3917 80)| |
Frete o Tt O wee it or | I sl 70, frgaEr arfe 2w |
F sl #1 weey e ofi 39 v oy (A) =R B) = b’
wfifes 1 S | R v Enen gan 3 I8 ’
AT IR
i forgn e | g v S A aEe o ) 2 |
& WY H AW A 9w =F g g I (A) T (B) wewf3

Ax -17-
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v) Test of Language : English
WTAT TETETOT ; STt

Directions (5. B1 to 85 ) ;: Read the below

given passage and answer questions that
follow ;

Nehru was a many sided personality, He
enjoyed reading and writing books as much
as he enjoyed fighting political and social
evils. In him the scientist and the humanist
wera held in perdect balance. While he kept
looking at social problems from a scientific
stand point, he never forgot thal we should
nourish the total man, As a scientist, he
refused lo believe in a benevolant powar
Interested in men's alfairs | but as a setf styled
pagan, he lqved affirming his faith in life and
beauty of nature, children he adored. Unlike
Wordsworth, he did not see them trailing
clouds of glory from their recent sojourn in
heaven. He saw them as blossoms of promise
and renewal, the only hope for mankind,

B1. According to the passage, Nehruwas a
(A} Sociologist
(B) A believer in benavolant power
(C} Balanced personality
(D) Confused personality

B2. The passage suggests that Nehru
had faith in

(A) One sided personality
(B) Matura

(C) Heaven

(D) Religion

83. According to the writer, Nehru deeply
loved

(A) Wordsworth
(B) Christian
(C) Moslem

(D) Childran

84. Nehru viewed children as
(A} Curse of nature
(B) Trailing clouds of glory
{C) The cnly hope for mankind
(D) None of these

B5. The word ‘sojourn’ in the passage

means
(A} departure (B} relurn
(C) stay (D) arrival

Directions (Qs. 86 10 90) : In these questions
some of the sentences have errors and some
have none. Find out which part of (A), (B),(C)
of & sentence has an ermor, if there is no arror,
your answer is (D).

B6. Neither her mother (A) / nor her
husband were able (B) / to help in her
work. (C)/No error (D)

B7. When | shall see him (A) / | shall tell
him (B} / that you had called. (C) /No
emor (D)

B8. Theboys (A)/ retumed home (B) / after
a tiring day. (C) / No error (D)




B9.

840,

91

g2.

83,

04.

None of my friends (A) / are applying (B) /
for this job. {C) / No error (D)

Our mathematics teachar (A) / often
emphasises on (B) / the need for a

lot of practice, () / No error (D)

Choose that alternative which best
expresses the meaning of the word
"SPECTATORS"

(A) Group
(C) Onlookers

(B} Listeners

(B) Participants

Choose tiat aliernative which is
oppaosite in meaning to "NERVOUS®

(A) confident (B) boastful
(C) fearful (D) shy

A large number of small scale
industries have been set up in the
rural areas. Tha alternative which
best expresses the meaning of the
above undedined idiom s

(A} encouraged (B) opened

(G) demaolished (D) rooted oul

Choose that allermative which can be

substituted for the words, “Difficult to
read”.

{A) beautiful (B) ugly
(Cy fina (D} illegible

JOD-27/PGT-MATH/X-14

Directions (Qs. 95 1o 97) : Choose tha
correct alternative and fill in the blank in the
following sentences.

95. Woe thoughtthatshe ____ the job.
(Al gels (B) Is getiing
(C)  will get (D} would get
86. Jagadeesh playsfootball _ an
experienced person,
(A) asif (B) as
(C) asthough (D} with
97. The game had bagun when
it started raining.
(A) marginally (B) unusually
(C) hardly (D) no sooner

88. The plural of WOMAN' is
(A) WOMANS (B) WEMEN
{C) WOMIN (D) WOMEN

99. Pasttense of the verb STRIKE is
(A) striked {B) struck

(C) stroke (D)  none of these

100, All words used to show the things
which are neither male or female are
of which gender 7

(A) Masculine gender
(B) Feminine gender
(C) MNeuter gender

(D) Common gender

g T g
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|ilhece i SECTION-B
|1 Post Specific Subject-Related Questions
| | 2 101, Ifa E{:I?d b gre_pﬂailiua Integers such 105. The domain of the function{: R - R
i 2l that a* - b* is a prime numbaer, then =t
E.E—tI'EiE Ell:ll..lﬂlh:l dﬂﬂmﬂ hyfhi}“ xp_31+2 15
(A a=-b {A] {[—==,K =)
b)la-b ,
(D} None of these
(D) Mone of these
' 102. Theremainderwhen 0!+ 11421+ ...
+99 1+ 100 | divided by 121is 106. Lelf:R—sR be the function defined
3
: (A) B = 1
l by f(x)= 5——— forallx & A. Then
(B) 5 the range of { is
© * (A [~1,1]
(M 10
® (1.1
103.  The value of x satisfying 3x = 4 (mod 5)
(A) 3 (D) RA\{0}
(8} 1
) 2 107. Letf:[0, 1] -» [0, 1] be defined by
1 D) 5 _{ %, i xis rational
E Wi 1=, if xis irrational e
L 104. The last digit of 6500 is Usirbn
| A) 5 {A) Constam
B) 7 B}y 1+x
G} & (Cy x
iy 4 (D) Mone of these
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i qr -3
gtez Wit g -t wem

101, ¥ a 3 b wrews quis E 3@ R | 105, %o f: R RS afoaie B s
a? - b? AT R B, M a2 — b2 0 f(X) = 3 —ax 2 2 T T
TR
{A} a-b {A.:l ':-"I]rm:l
(C) (a+b){a=Db) [C) (==,1]uw ]2 =)
(D) A EE (0) wHa=E
102. Ol+1!+21+..+901+1001F 128 | 106. WRulEL AR s® vimba fn
mﬁmmﬂ,?ﬁﬁﬂ% 1 §
A o rrm%r:x}=2_m£mﬂm%ueu.
w1 £ = e (=) 3
(B) &
(A [-1,1]
(c 1
(D) 10 (B) [J/Ei]
(C) (w0, x)
103. 3% = 4 (mod 5) = TOEE = & fow
% % ey B (D) R\{0)
(A) 3
(B) 1 107, w0, 1] - [0, 1156 gfoafim
© 2 [EZ I IE
{D] 5 f R X ‘ﬂﬁxﬂtﬁ'ﬂi‘ q
=1k, TR x o ﬁ
104. 6500 =7 snfiatt o & ™, (taD (R i
(A) 5 (a) e |
B) 7 (B) 1+x
(C) 6 (C) x
O 4 (D) THAFE T

Ar -




E_% Jnn-z?mm-mnmﬁ
ok : o -
i' ..'!' 108, Letf: R xR be dEﬁnEdh}f 112. Tha value of cn5—1 (ﬂ:ﬁ%ﬁi] is
il A (2x i x>8 aqual to
Ldy '3 )=1x" If 1<xs8 .,

B F x<1 {A) E
fi=1}+1{2) +1{4) is
(A) 14 (B) 5 (B) %
(C) 8 (DY 9
Sr
(C) Y

108. Let f: R-»Rbe defined by fix) =2 + 1.

Then pre-image of 17 is = 7r
(A) {4,-4) 2
(B) {3,-3)
1
(C) P.e,—g_] 113.  The value of cot {sin~! x) is
f F
(D} Mone of these i i ;i

110, Ifsing and eosg are the roots of the o
equation ax® - by + g = 0 thena, b (B) :,?1+g!
and c satisfy the relation

1
(A) a%+b242ac=0 @ =
(B) a®-b?+2ac=0
1-x*
(C) a®+e?+2ab=0 (D)
" (D} a*—b?—2ac=0
114, The order and degree of
I. 111, Iising + cos® = 1, then the valye of e difterential Fpation
sin 24 is equal o (VT ay
- . r’f[d;,] ] " ax? 'espectively are
(A} 1 B 3
(a) 1,2 B) 22
g =t € 21 (D) 4,2
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108. 1w f: R R afoaita fem w8 ) )
; 112, cos™! Ifﬁﬂﬁgjmgfﬂm?mm%
lox =R x%x>3 b
fx)={x* aB 1<x<8 2
[ax gl x<1 (A 7
T, 1{=1) + 1(2) + {418 A
(A) 14 (B) 5 ® 7
c) 8 (D} 9
€
100, Wi f: R Rufonie fem w2
fix) = 3% + 170, 17 & g -Hro 2 (D) =
2
(A) {4,-4]
(B) (3. -%
© (2 -2) 113, cot(sin™' x) R = 8
(D) 3t | = A 1+ %
) X
110. IR ax?—bx + c= 080 FfEF F sino X
aﬂimsﬂrﬁﬁ.ﬂ%ﬂ,baﬂiﬂﬁ'ﬂm (B) i+ X
o1 THTEH F
(A) a®+b®+2ac=0 (C) %
(B) a®=b®+2ac=0
(C) a®+c2+2ab=0 o) JoX°
(D) a®-b®-2ac=0 . |
. [
111. #R sing +cosg =12, @ sin 24 ¥ ayV] oy
‘{m{ﬁw% 114, [1"[EJ _aim-ﬂﬂﬁm
(A) 1 (B) % o & AT o e #
©) o o 1 (A} 1,2 B) 2,2
(C) 2.1 (D) 4,2

A* 25
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115.

116.

117.

The Integrating factor of
the differential equation
A (xlogx)+y=2logxis

dx

(A) e*

(8) logx

(C) log (log x)

D) x

Solution of diferential equation

xdy — ydx = 0 represents

(A) A rectangular hyperbola

(B) ‘Parahnlﬂ whose vertex is al origin
(C) Siraight line passing through origin

(D) A circle whose centre is at origin

lty=e""(Acosx+Bsinx) thenyis
a solution of

® $1-o¥iz-0
() %- 23ﬂ—’+2y=n
® $Lizy-o

118.

118.

120.

JDD-27/PGT -MATHFK-&

Tha differantial equation of the family
of curves x&+ y= — 2ay = 0, whera a is
arbitrary constant, is

B 02—y S =2ny
(B) Elﬂz+ﬁ}%=w
(C) Eﬂxﬂ-y"'}g%ﬂy
©) (24 =2y

Two finite sats have m and nelements
respectively. The total number of
subsets of first set |s 58 more than the
total number of the second sel. The
values of m and n respectively are

(A) 7.8
(B) 5,1
(C) 6,3
(D) 8,7

Let F, be the set of parallelograms,
F2 the set of rectangles, F, the sel of
rhombuses, F, the set of squares'and
F. the set of trapeziums in a plane.
Tﬁen F, may be agual to

{A} FE ™ F-E

(C) F; . Fg

D) Fou Faw Fyu Fy




5,

115.

116.

117.

%{m::;xhy:zlngxiﬂmﬂﬁ
YT 1 HATEEE T B

(A). e

(B) logx

(€) log (log %)

D) x

xely — yibx = 0 TH AT TR =
wuvfRfEsmt

(A) wrEarER AfEer

(B) qﬁa:rﬁuamﬁi@ﬁam%
(C) it B IR HE
(D) e 7w fomet g meferg i R

Aty =e* (Acosx+Bsinx)®, Ay
7 THRT 39T

dy dy
Sise2 g
A mn:E4 i

=
i?-—Ed_}‘..{.E\,r:ﬂ

(C)

()

118.

119

120.

JDD-27/PGT-MATH/X-14

X 4 y2 — 2ay = 0 WREH & 7E a T8
T THi B, e AT HHET R

d
W) (2 o =2
B) 208+y7) 5 =xy
©) 20¢-y3) & =xy

D) (2 +y?) % = 2xy

=t affir =t 3 m A n FE: E5

£ | ves wy=A F Immgel i @
AL Y o e e H 56 S R |
m 3 n & e FO: 8

(A) 7.6
(B)
(C) 6,3
(D} 8,7

5,1

A wifam, & o wHas 9 F, gEe
AN F R, F, SR A
F., B 1 T 8, F, A
W ® A F e ] W
T # F, g0 e 8 e

(8} Fs ~Fj
(B) FanFy
(C) FpuFe
(D)

Faw Fgw Fyw Fy




122.

123.

124,

Let x and y be real numbers and

A=(6e )=, % %0}, B={x )y =
be two sets. Than

(A) ArB=A

(B AmnB=4¢

(C) ArnB=B

(D) AuB=A

In & town of 840 persons, 450
persons read Hindi, 300 read English
and 200 read both. Then the number
of persons who raad neither is

(A) ®10 (B) 180
(C) 260 (D) 2890

Let n{A) = m and n(B) = n. Then the
total number of non-empty relations
that can be defined from AtoBis

(A) m"

(B) nm—1
(C) mn-=1
(D) 2mn—1

If [x]* - 5[x] + 6 = 0, where [.] denote
the greatest integer function, then

(A) xel3, 4]
(B} x=(2,3]
(C) xe[2,4)
(D) xe[2, 3]

125.

126.

127,

128.

JDD-27/PGT-MATHX-14

It x" =1 is divisible by x — K, then the
least positive integral value of K is

(&) 1
B) 2
(C) 8
(D) 4

Hf={{-1,=5), (1, -1), (3, 3)} i a
function described by f{x) =ax + b, then
the values of a and b are

(&) -8,—1
B) 2,-3
(C) 0,2
(B 3

The value of 10C, + 10C, + 10C,
+..+ 10C, I8

(A) 210
(g) 21
(C) 20-2
(D) 219_ 1

Everybody in a room shakes hands
with everybody else. The total number
of handshakes is 68. The total number
of persons in the room is

(A) 11
(B) 12
) 13
(D) 14




121.

122,

123,

124,

rifem frx siy At semdE i

A={ N [y= 5. 201 B={x )|
y=—x}TE A T=E T | UR

(A) A~B=A

B) AmB=4¢

{Cy AnB=8B

D) AwB=A

T e 0 B4n =E © 1 39 450 =4TE
feft o w ¥ 300 el ggd § aln
200 A1 Tad & | T H 2] A1 T
Fﬁﬁm%‘

(A) 210 (B)
(C) 260

180
(D} 290

a1 Atfa e n(A) = m3tn(B) =nt |
A § AR B A 21- T T & et
s e =t =1 w8

(A} m"

(B nm-—1

(C}y mn-=1
(D) 2m1—1

afg [x2— 5[x] + 6 =0 &, 5@ [] WM
e e HfE w E, d

(&) xel3, 4]

B) xe(2,3]

(€C) xc[2,4)

o x=(2 3]

125.

126.

127.

128.

JDD-27/PGT-MATH/X-14

afR xM — 1 i x - K, T um Rm s e,
Al K T = ST e e 6
(A} 1
(B) 2
(G} 3
D) 4

TfE f(x) = ax + b, AT B
f={(-1,=5), (1,-1), (3, J)}FEA 2,
ft a ol b & qFa &

(A) =3,-1
{B) 2,3
{C) 0,2
(D) 2,3

10C, + 10C, + 10C5+ ... + 10Cg T
T 2

(A) a1

{E} 211

(C) 219-2

(D) 210-1

O ST T B U SATEH) B0 gl A
A e firemen & | gve e o e e
% 66 | 39 =t 1 5w A 4

(A) 11
B 12
(C) 13

() 14
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129.

130,

131,

132,

The total number of 8 digit numbers
which have all different digits is

(A) 101

(B) 9!

(C) 99!
(D) 10x 101

The sum "C, + "C__, is equal to
(A) ™ic,

(B) I-I'::rﬂ

{c:l 1.H-‘I':HI

{Q:l Mone of these

The total number of terms in the
expansion of (x + a)*! — (x — a) 5! after
simplification is

(A) 102
(B) 25
(C) 26
(D) MNona of these

The 10" common term between the
series 3+ 7+ 11 +..and 1 +8 +
11+ ...i8

(A) 181
(B) 193
(C) 211
(D) Mone of these

133.

134,

135.

136.

JDD-27/PGT -MATHD&IJ«

It e+ 3 =10, then

(A) X e (-13,7]
(B) x e (-13,10]

(C) xe(~w,-18]u [7, =)
(D) xe(-7.7]

& A={xeR|x*>x+6] and

B=fxeR|x>2}. Which of the
foliowing is true 7

(A) AcB
(B) BcA
(C) A=B
(D) AnB=p

MNumber of solutions of the equation
Z2+|22=01s

(A) 1
(B) 2
(C) 3
(O} infinitely many

ita+ib=c+id, then
(A) a2 +c2=0
(B) PP+c2=0
(C) PP+d2=0
(D) a?+b2=c24d?
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129,

130,

131.

f L IEE-

9 ITE IE IFHEE] 9 I F FH
e §

(A) 101

(B) 9!

C) 9x9l

(D) 10 = 101

C,+"C,_, 1% HIE SHF WO B
{A} n+‘||:l

(B) "Cp;

{E} n+1':rt'l

(D) o # i el

TEEEA 18 (¢ + 8)5 ' — (x—a) I &
Torzemon 1 e et = W Bl

(A) 102
(B) 25
(C) 28

(D) ¥ 4

3+7+11 +...3ﬂT1+E+11+-,,‘§I
dfireft F A 1oTaE B R

(A) 181
(B) 183
€ 211
(D) g & B

JDD-27/PGT-MATH/X-14

133. A [x + § = 108,90

134.

136.

136.

(A} xe (-13,7]

(B) x= (=13, 10]

{C) x€-=,~1u (7 =)
@ xe{-7.7]

A i f, ..l!i;.z-]::nt:EI:Il}':j :-x+EI]'
M B={xeR|x>a8 7 Fp= i =n
IR 7

(A) AcBE
B) BcA
(C) A=B
(@) AnB=¢

Z2 4 |22 = oo 3 A wE 2 7
(A} 1

(B) 2

(C) 3

(D) T v

gfta+ib=c+id®, A
(A) a®+c=0
(B) BE4+e2=0
(C) BPsdi=0
D) a?+bf=02+d2

e
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137.

138,

138,

140,

If [Z2 = 1] = |Z[2 + 1, then Z lies on
(A) Circle

(B) Real axis

{C) Imaginary axis

(D) Ellipse

(C) i
|{t:n}"‘I MNone of these

I @ is a cube root of unity then w is
equal lo

(A) 3

(B) 1'f
©) ”"f
o) -1:4’5

Iif |Z + 4| = 3 then the maximum value
IZ+ 1|8

(A) 10 B) 4

(C) 0 (B) B

141,

142,

143,

144,

JOD-27/PGT -MATHI"K&‘M
.
5

The locus of a point forwhich x =0 is
(A) xy— plane

(B} yz—plane

(C) zx - plana

(D) none ol these

The perpendicular distance of the
paint P (8, 7, B) from xy — plane is

(A) 8
By 7
(Cy &
(D) None of these

¥ o ff vy are the angles that a line
makes with the positive direction of
X, ¥, z axis respectively, then the
direction cosines of the line are

(A} sin o, sin B, sin Y

(B) coso, cospP, cosy

(C) tan o, tan f, tany

(D} cos? o, cos? B, cos? ¥

The reflection of the point (o B, ¥) in
the xy — plane is

(A} (o p.0)
(B) (0.0.v)

€ (o -By)
@) (o p-71)




137.

| 138.

139.

140.

ofd |Z2-1| = |22 + 18, Zoei Feam B
(A) =

(B) STt 3

(C) il wa

(D) dniga

®i- oA .
o B

(A 1

(B) i

c = "

(D) T8 & FE A

1R o 7 v F T A o
R
A 3

(B)

(C)

=1 +1 43

|y =

o2 |Z + 4| = 3R A |2 + 1| SHFrwan
Bk

(A) 10 (B) 4

(€) 0 (D) B

141.

142,

143.

144,

JOD-27/PGT-MATH/X-14

frm fag % fau x= 08, 3o fagou @
(A)  xy —HHEE

(B) yz-A"TA

(C) zx—Ewad

(D) A g

xy —aaE # P g (8, 7, 8) i wfiem
e

(A) 8

B) 7

C) &

(D) T & =g A

ofe v TET x, y, z S F T B
0 Fam: o,y T f, @
fem=femm

{A) sin a,sin p, sin ¥y

(B) cosa,cosf,cosy
(C) tan a,tanp,tany
(D) cos? g, cos? i, cos? ¥

xy Tt & g (o, p, y)F ofifera
(A) (e B 0)

B (0.0,v)

€ (=-R1)

O) (o p-7)

T R
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145,

146,

147,

If i, | and k are unit vectors. Thevalue

"

of [ (Jxk}+ . (i xk)ek.(=])is
(A} 0
B) -1
() 1
(D) 3

if & is the angle between any two

: B-ixB

vectors & and b, then

when 2is equal to

4
(Ay 0O (B)

| A

(C) (D) =

B3| =

The paint {4, 1) undergoes the following
two successive transformations

(i} Reflection about the line y =x

(i) Translation through a distance
2 units along the positive x-axis

Then the final coordinates of the
point are

(A) (4,3)
(B) (3,4)

(€} 11,4)

o (%%

148,

148,

150.

151.

JD{.'J-E?FFET-MA“%

A point equidistant from the lines
4%+ 3y +10=0,5x-12y + 26 =0
and 7x + 24y -50=0is

(A) (1,-1)
B8 (1.1
(C) {0,0) '
(D) (0,1)

The area of the circle centred at (1, 2)
and passing through (4, 6} is

(A} &=

(B) 10w

(C} 25n

(D} none of these

The function f{x) = [x], where [.]
denoles the greatest integer function,
is continuous at

(A) 4
B -2
c) 1
(D) 1.5

The function f({x) = 3 is

4% —x
discontinuous at

(A) Only one paint

(B) Exactly two points
(C) Exactly three points
(D) MNone of these




145,

148,

147,

gfe i j s k¥ s wfem €,
A S I A P el =k
(4) O
(B) -1
) 1
(D) 3

aft % 4 wh & o b % A
o 37[a. 6= 85 mf dmom

6 TEF AT 2
.

(A) O

(B)

=1 A

(C) D) =

mald

Torg (4, 1) A oy = v e )
() T il y =«

(i) EATHE x & F T 2 7 g A
il 5 T
o, farg % af=m P 2

(A) (4,3)

(B) (3.4)

(C) (1,4)

o (%.7%)

148,

148,

150.

151.

JOD-27/PGT-MATH/X-14

4%+ 3y +10=0,5x-12y + 26 =0
3 73+ 24y - 50 = 0 4 Yeradi &

HHgTE g o
A (1.-1)
(C) (0,0)

By (1,1
(0) (0.1)

(1, 2) W F=1 s (4, 6) 7 T A
9 &1 fowam R

(A)
(B)

bR
10x
(C)

(O)

25n
T A FE A

e fix) = [x), TET [ 7ETH Il Fer
Hfem w8, a8 @ w Frem wa @
(A) 4 (8) -2
() 1 D) 15

LR
W Hx) = 5 T8 T R S
T R
(A) Fae o forg
(B) i 3t 2t forg
(C) e i i fag

(D) FHAFETE
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E‘gﬁ JDD-27/PGT. -MATI-H'I&!
it 152. The maximum value of sinx + cosx is 156. Thefunclionfix) =2 -3¢ - 12x+4 has
| (A) 2 (A) two points of local maximum
G (B) two points of local minimum
€ 2 (C) one maxima and one minima

D
@) 0 (D) no maxima or minima

153. Which of the following function is T
e

1 g
— it =
decreasing on [ﬂ,%] 7 157. o £'!+t 8 then {1“2!:!1 is
al to
(A] sin 2x e
(B) tanx (A) n—1+§
(C) cosx
(D§ cos 3x .
(B) a+1 2
154. The two curves x* - Sxy2 + 2=0and ©) a-1-%
By —y =2 2
{A) touch each other g
(D) a+i+—
(B) cut at right angle 2
7t
(C) cutatanangle = 158. The area of the region bounded by
the curve y=xZ and the liney =4 Is
s az
(D) culatan HI"IEHHI (A) =
g X
155. If x is real, the minimum value of ®) 3
x2-8x+17is
(B) O .
© 1 128
3

(D)

(D) 2




152, sinx + cosx ¥ TR 54 &
(A) 2
(B) 1

(C). J2
(D) ©

153, ﬁnﬁﬁﬁmw{ﬂ. E] T EZaE & 7

(A) sin2x
(B) tanx
(C) cosx
(D) cos 3x
.

1584, xF-3xy?+2=03M Wy =27z
2

(A) =778 = oqe = B
(B) WHFMIIFIAE

(S gﬂﬁwmﬂﬁ%%

() %iﬁlﬂT‘HﬂiEﬁﬁ

155, R xInaEFE W 2 —Bx + 17 =
ST 4
(A) -1
(B) 0
ic) 1
oy 2

156.

157.

158.

JDD-27/PGT-MATH/X-14

F ) =28 -3 120+ 4F B
(a) Hiftm sfes = =1 fag
(B) i wfers % @ fasg
(C) U et 3 e
(D) =t sTeafier =1 =g

15' i
wﬁf—mwﬁ,eﬁi-

I:.1+t
AT

(A) &—1+::-
— B8
B) a+1=>
-
© a1

=]
1
{D} i 4—2

Ty = by =4 AgnEmimt

w = -*
® 5 :
© =
O 5
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138.

160.

181,

162.

It A and B are matrices of same order,
then (AB* - BA*) Is a

(A) skew symmetric matrix
(B) null matrix

(C) symmetric matrix

(D} unit matrix

If A and B are square matrices of the
same order, then (A + B) (A-B) is
equal to

(A} AZ-pge

(B) A®—-BA-AB-B2
(C) §*—-B°%+BA-AB
(D) AZ2-BA+B24AB

it matrix

A= [H'L]:I:-::l whera

1 i
=0 ifi _ j then AZ s equal to
(A) I
(B A
(C) O
(D) None of these

If A is skew symmetric matrix, then A2
Is a

(A)  null matrix

(B) unitary matrix

(C) skew symmetric matrix
(D) symmetric matrix

163.

164.

165.

JDD-27/PGT -MATI-HH-QQ

It A and B are invertible matrices, then
which of the following is not correct 7

(A) adjA=|A|.A™!
(B) det (A) =[det (A)] "
(C) (ABy'=B"'A"
(D) (A+B)y!=8-14+A"

It A, B and C are angles of a
triangle, then the determinant

-1 cosC ocosB
C -1 cosAl .
It
cosB cosA -1 b g
(A) 1
(B) 0
ey -1

(D) MNone of these

It Ais a square matrix such that
AZ=1, then (A—1P + (A + )*—T7Als

(A) A
By 1-A
C) 1+A
(D) 3A

ilmm
x-#ll W

{A) 1
(B) -1
{C) O
(D)

is equal to

Does not exists




159. 42 A 3 B waH #0 % uigaa § A
(AB* — BAT) B
(A)  Foree i A
(B) e Higww
(C) wwbE Afgw
(D) s AR

aft A e A En Fal afmmE @
(A + B) (A~ B) 55 7= &

(A) A2-B?

(B} A®-BA-AB-B2

(C) A®-§%+BA-AB

(D) A®-BA+B?+AB

160.

161.

afe A= lﬂhlaas ﬂﬁﬂﬂﬂ*

1 AR
0 TEi=]

B

(A) |
(B) A
(€ O

(D) o & =g el

2, 1 A2 3HE T

afe A ue fem aufim afisg 2. @ A2
WU

(A) e ufge

(B) Ufee afww

(Cy Tamm wrfie A

(D) i Afie

162.

163.

164,

165.

186.

JOD-27/PGT-MATH/X-14

aft A 3 B e Al ¥, v P d
ARTHEA TR B 7

(A) adjA=|A]. A
(B) det (A) =[det (A)]~
(C) (ABy'=B1A
(D) (A+By'=B"14+4A"

afg A, B ¥ C v B & wm &4

QoS
cos A
-

-1 cosC
cosC -1
cosB cosA
T A #

(A} 1

(B) O

(C) -1

(D) & & il e

TR

a2 A = i dam fed A28, @
(A= +(A+13-7AR

(A) A
(B) I-A
(C) 1+A
(D} 3A

tim 1% THE A E

=4 M

(A} 1
(B) -1
(C) 0
(D) FEiEans




ki

167.

168.

169.

170,

T+2+3+ ...4n
im =
(A) O
(B8) 1

NeN is equal to

© 3

| -t

(D)

1
Value of the limit ii_l'[lnx Eﬂﬂ; s equal to
(A) 1
{Ell 0
(C) Not defined
(D} None of these

The radius of convergence R of the

[
series E;{””]'“" is
A

(&) infinite radius
(B) 1
(C) O

(D) none of these

Which of the following is not an
indeterminate form 7

{A) =+m
(B) = -
(C) wlw
(D) Oxew

1.

172.

173.

JDD-27/PGT-MATH/X-3}
Value of the hlﬂgmr?i{x +2y)dy dx Is
W = |
© =
©
If #(z) = uix, y) + iv(x, v}, then Cauchy-

Riemann equations are

8u N -y
W %y ™M a"y
ﬂ—ﬂanﬂﬁ-ﬁ
{E} m_w _a:f_ e
U_N oo
O & o™

(D} None of these

Laplace transform of the function
f(t) = '+ cos¥ is

_E__ 8
(A) 5+2 s?+p

1 5

=
) 5-2 s5°48

1 ;|
-

s+2 g?_3

(C)

(D) None of these




167.

168,

169.

170,

fim "2*":;""" N ne N sdamr

(A) ©
B) 1

()

[ "

(o)

|

]
lim 5 sin . & 1 H 5 T0a 8
(A} 1
(B) O
(C) w&wﬁmqﬁmﬂm%
(D) % & =18 e

niu{nnhx" Aoft 3 R sy 4
famn 2

(A} 3 =

(B) 1

©) o

(D) & H13

g asn AfE sz
(A) @+
B ©-w
(C) wlw
(D} Oxw

17

172.

173,

JDD-27/PGT-MATH/X-14

ﬁ{ﬂ +2y)dy o quigifens =1 qea 8
(A)
(B)

(C)

2o 0% alf oz

(o)

A H{z) = ulx, y) +ivix, i ®, Tri-fm
a2

N M N -
(A) a=g:§ma=¥
fu v au —-v
® o o My e
au & au -av
© "™~ 5
(D) i & =g el

f(1) = e®' 4 cos™ wew %1 HoeAw

(A)

(B) ﬂ~-2+5279

) ==t

(D) ¥ 8=
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174,

178,

1786.

177.

A*

A real valued bounded function f(x)
is Riemann integrable on [a, b), then

(A) j'= f(x) dx and J'_hn}:} . gxis]

(B) jh fx) ez [ 10¢) o

© | o= e ax

(D) None of these

1 2 3
The rank of a matrix | % 7 |is
3 8 10
Ay 1
(B) 2
(C} 3
(D} None of these

The dimension of the vector space of
all 3 x 3 real matrices is

(A) 3
B) 8
(C} 6
o) 4

Let V be the vector space of funclions
on the interval [0, 1]. Then the
functions x3, sin x and cos x are

(A) Lineary dependent
(B) Linearly independent
(C) Data are insufficient
(D) MNone of the above

178.

174,

180.

JDDETFGT—HAM@

S ={(1,1,0),(2, 1, 3)}is a subset of
IR? then which one of the following

vectors of |7 is notin the linear span
of S 7

(A) (0,0,0)
B) (3,23

©) (1,23

o (%.11)

Let T:R? -»IR® bea linear
transformation defined by Tix, y, z) =

(% +y, ¥ +Z). Then dimension of
nullspace of T Is

(A) 1

(B) 2

(C) O

(D) none of these

Dimension of a subspace W= {{a, b, o)
la+b+c=0}of IR?is

(A) 4
B) 3
(Cy 1

(D) 2




174,

175.

176.

177,

UF ATt

TrHaE AT () e
(&, b]) 9L {15 FoeReEE B, @

(A) 4[ lﬁ}maﬂ?lj_uﬂxll dx Fid

]
(B) j‘f{x}dn:[_hh:x}dx

(C) uj'h f(x) dx =.l[-hf{:u:} dx
(D) wrd & = el

YD 3]

24 7 itmemed
|3 8 ml

(A} 1

(B) 2

(C) 3

(D) &5 & s TH

ot 3 x A aralE iRsn F oty em
F1 99 #

(A) 3 (B} 9

C) 6 (D) 4

A Hifem &, s [0, 1wt =
TEHEV R | T8 H %2, sin x 3 cos
e B

(A) T A
(B) wEFHT ==
(C) a2 sygie e 8
(D) oo & i e

41-

178.

178,

180,

JDD-27/PGT-MATH/X-14

iz S ={(1,1,0), (2, 1, 3)} 7= R°FH
sage= #, 4 BT & Frer i A e
afen &= v e 8 58 s o

(A) (0,0,0)
(B) (3.2,3)

€) (1,23

© (%.1.1)

o #iee f& TR s R? ww
Tix, v, 2) = (% +y, y+ 2) 3 qfoaies fsm

BT U} ST B, A T e
FIHHEE

(A} 1
(B) 2
(©) 0

(D) % A FrEe

IR® % AW ={{a, b, ¢) [a+ b+ c=0)
T HTH &

Al 4
B) 3
(C) 1
D) 2




181.

182.

183.

184,

Which of the following Is uniformiy
continuous in (0, «) 7

(A} f(x)=sin %

B) )=

1
©) fx)=73

(0} none of thesa

Standard deviations for first 10 natural
numbers is

(A) &5 (B} 3.87
(C) 297 (D) 287

Mean of five cbservations Is 4 and
their variance is 5.2. if three of them
are 1, 2, 6 then other two are

(A) 2,8

(B} 5.6

(C) 2,10

(D) 4.7

The mean of 100 chsarvations is 30 .
It iwo observations were wrongly
taken as 32 and 12 instead of 23 and
11, then the correct mean is

(A) 2989

(B) 28.9

(C) 25

(D} none of thase

185.

186.

187.

Jnn-szGT-MAW

in a leap year the probability of having
53 Sundays or 53 Mondays Is

= | ha

()

\B)

=~ | £

(C)

| 4=

(0)

=l |

The probability that in a family of
5 membars, exactly two members
have birthday on Sunday, is

12 54
W

10= 82
B =

© 3

10= 8%
) 5

A coin is tossed 3 times. The
probability of getting head and tail
alternatively is

YIS ® %
© Y% o %




.

B

181, (0, = ) & P 8 =i v P & 2
{A) 1’|{:«vc}=!iir1.;;E

1
(B) fx)=+

1
{':': f{n'ﬁ = }l:_'?

(D) T & 05 A

182, ol o8 =T ae Tl o S

IEEECh
(A) 55% {B) 3.87
(C) 2.97 (D) 2.87

183, i Il &1 51y 4 & = 39
wms2elgRFI A1, 2,65,

AT AR A
(A) 2.9 (BY 5.6
(C) 2,10 D} 4,7

184, 100 AT =] A 308 | w2 F
FaTiEA T 23 AT (1 F AW
gz iz T g fiEd e #
(A) 289
(B) 289
{C) 25

(D) 9 HFE

185,

1B86.

187.

JOD-27/PGT-MATH/X-14

w19 74 1 53 TiEEn T 53 T 296 =6
YA

(A)
(B)
(C)

(D)

=l|h =jE& =@ =l

e weeat & aftam § dw i 2 weeit
1 7170 i i = o ) avireaa B

12« 59

W =3

10x 6%
75

(B)
© 3

1 d
o) 5=

e Tk &t 9 o 39Ten o & | e

HI 92 AR 9Tl A 3 o S |
YA ® %

© Y%

O %
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188.

189.

190.

Ifthe events A and B are independent,
then P(A~B) is equal to

(A) P(A) +P(B)
(B) P(A)-P(B)
{C) P(A).P(E)
(B) P(A) | P(B)

A bag contains 5 red and 3 blue balls.
If 3 balls are drawn at random without
replacement the probability of getting
exacily one red ball is
L
45
W Jee

135
Bl —
(8) 392

© =

15
@ 2

In a frequency distribution, the mean
and median are 21 and 22
respactively, then its mode is
approximalely

(A) 205
(B) 255
(C) 24
(D) 22

181.

182,

183.

184,

/
JD&E?FGT—MATFUI-*

How many tarms of the G.P. 3, g%
are needad to give the sum % 1
() B

{B) 10

) 9

(0} None of these

Mumber of subsats of a finite set with
n elements are

{A) 27
B) n!
) n
(D} n"

It f(x} is an even function, then t'{x) is
(A) an odd function

(B) an even function

(C) may be even or may be odd
(D} none of these

The remainder whan

10%9,(10% + 1) (10'° + 2) is divided
byBis

(A) 2
(B) 4
(C) 0
(D} &




188. 3fe A 3 B = 92a == 2, A
PlA ~B) 30 Tra §

(A} P{A)+P(B]
(B) P{A} - P(B)
(C) P(A).P(B)
(D) P(A)| PB)

188, wdfidsam s mEi=g)
Afe weet @i i e ot & e 9 B,
il di dt s oE T = i fiee
g
45

W es

® o

©) 2

15
(D) >0

190, %f2 srEmm =vem  grer i e
T 21 3 22 B, A T AT B

T
(A} 20.5 (B) 255
(C) 24 (D) 22

181.

182.

193.

194,

JDD-27/PGT-MATH/X-14

E?ﬂﬁaﬁﬂ—mmmﬁﬁq

3 gf ..... S Bl aet e
HETFATE 7
(A} B

(B) 10
(C) 8

(D) 5 & ird 7l

n EE=R] ATl Wi e & sy
1w §

(A) 20

(B) n!

() n?

{0) "

T fix) T F T, T (08
(A) U= o e

(B} T HY e

(C) &t ag 97 fawm

(D) ST A A

= 1070,(101% + 1) (100 + 2} Ft 6 8
wiet e e & o= 9 e

(A} 2
(C) 0

(B) 4
D) &6




| i ]

185

The power seres E

misll

2.+ (1" | 2
7

converges
(A) onlyforx=0

(B forallxelR

196,

187.

(C) onlyfor—-1<x<1
(D) onlyfor—1=x=1

let T: R" —=IR" ba a linear

transformation, Which of the following
statements implies that T is bijective 7

(A) MNullity (T)=n

(B) WMank (T) = Nullity (T) =n
(C} Rank (T} + Nullity (T)=n
(D) Rank (T) = Mullity (T)=n

A linear transformation T rotates each

vector in IR? clockwise through 807
The matrix T relative to the standard

ordered basis [[EI] [ﬂ} 15

(A) :5’1 ';;}
® [ 4]
© 93]

198.

184.

200.

JDDETFPGT—MATHK—}‘;

The limit of the sequence 0.5, 0.55,
0.555,...,1s

(A)

M @

(B}

€ 3

(D) none of these

Vailue of the r!T niug{n+ 1-log n] Is

(A) &
(B) 1
(C) o

(D) none of these

A line makes equal angles with
co-ordinale axis. Direction cosines of
this line are

(A} (111

1 1 1
(8) tt_a'_a'_aj

(€) =




195.

198.

187,

& 2ot ] o o 0 v
e 31

by
et @

(A) FEAx=0%FFw

(B) #¥fi xR & T

(C) FaA—1<x<1%Tom
(D) Fad-1<x< 15w

ara e &, T2 R — 1R 98 Tt
s § | e 8 3 e e g
m%ﬁg%nqmﬁm%?

(A) R (T)=n

(B) W& (T)=3FM (T)=n

(C) W|(T+5FFR(TD=n

(D) 9= (T)—%FFM (T)=n
UFHE] e T, \32 § oAt %
90" ¥ §U EfErmaE e W
(213 e e e
g A TR

*) [-G‘I _t” B |-10

(C) [ﬂ" {ﬂ

(D)

198.

189.

200.

0.5, 0.55, 0,555, ..., e & H

w2

(B) 5

© 3

(D) %AH A = A

lim rfiog{n+1)—logn] F 74 #

(A) e
(B) 1
Gy 0

(D) 5 & 15 T

#fe v e FEams aw B @ R
10T =T 8, T 58 Ty = e g

(A} £{111)

i+
T
-
-
@l
| S

(B)

| ==
|-
| -
|

(C)

D) *

.
" TR .

@l
L
&1l &
o S
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%
E IMPORTANT INSTRUCTIONS TO CANDIDATES ¢

uftaant & fem wewol sEan

11. This booklel contains 48 pages.

12. Please check all the pages of the Booklet
carafully. In case of any defect, pleasa ask
the Invigilator for raplacement of the Booklet.

13. Directions : Each guestion or incomplete
statement is followed by four alternative
suggested answears or completions. In sach
casg, you are raguired to ssioct the one that
correctly answers the quastion or complates
the stalement and blacken (@) appropriate
circle A, B, C or D by Blue / Black Ball-Pont
Pen againsl the question concemed in the
Answar-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scriba)

14. Mark your answer by shading 1he appropriate
circle against each guestion. The circla should
bz shaded completaly withoul leaving any space,
The corract method of shading is given balow.,

hathod || Wy Meth | Come Maihad

Wiong Mpthad
ooolowoolo®oolce00

The Candidate must mark his/her regponsa
after careful consideration,

15, There |s only one correct answer o each
guestion, You should blacken (@) the dcircle
of the appropriate column, viz., A, B, Cor D,
Il you blacken (@) more than one circle
against any one question, the answear will be
troated as wrong. Il you wish o canced any
answer, you should completely erasa that black
mark In the circle in the Answer-shaet, and
then blacken the crcle of revisad responsa.

18, A machine will raad the coded information
in the OMRA Answar-Shesl. In casa tha
information s incomplete/differant from the
information givan in the application form, the
candidaiure of such candidate will be treated
as cancellked.

17. Usa the space for rough work given in the
Question Booklet only and not on the
Answar-Sheet.

18, You are NOT reguired to mark your answars
Iri thiz Booklel. All answers must be
indicated in the Answer-Shest only.

1.
12,

13,

14,

15.

16

17

18.

W aag a= R |

v fe et g = g Rl R
wi am i, 7 Filien S A T |
oy . wells W aTVET W S A AR
S A ST [ A e T |y
# s Foelt o =1 g & ) s w I
3 squrE U W G0 I S -t
# Juges MeTER. @ A, B, G D ®1 i m
FT FE-gEe 1= # T (@) TR
(g Infmant & fom wm e
Terftes g wren fean wme)

el W o WA T e o (TR e S0
o Tomd | gt = iy i e i e il |
Fermgiirm waa = el wlie = R @

e At | mem ot || mem A || amias
OROO|IC80ICe 000800

syl o) ST I S A T R T
Tt = =i |

yrs W S A U A I | s
wqfae wiem g A, B, C T D 5 Tiersn
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Go through Instructions given in Page No. 1 (Facing Page)
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